    

Question No: 1    ( Marks: 1 )    - Please choose one
 D Corporation uses process costin to calculate the cost of manufacturin Crunchies. Durin the month 12,500 units were completed, 1,500 units remained in work in process at 25 percent completed. How many equivalent units are produced? 

       ► 12,500 units                                           ► 12,875 units
       ► 14,250 units                                           ► 12,125 units

25% of 1500 completed = 1500*.25 = 375
375+12500 = 12875
Question No: 2    ( Marks: 1 )    - Please choose one
 reenwood petroleum has the data for the year was as follow:

 

	Openin WIP
	26,000 barrels.

	Introduced durin the year
	67,000 barrels

	Closin WIP
	15,000 barrels.


 

How many barrels were completed and transferred out of work-in-process this period?

  

       ► 67,000  barrels                                             ► 78,000  barrels
       ► 82,000  barrels                                             ► 93,000 barrels

   Question No: 3    ( Marks: 1 )    - Please choose one
  Durin the year 50,000 units put in to process.30, 000 units were completed. Closin WIP were 20,000 units, 70% completed. How much the equivalent units of output would be produced? 

       ► 20,000 units                                               ► 30,000 units/

       ► 36,000 units                                               ► 44,000 units
70%of WIP completed = 2000*.70= 1400
30,000+1400= 44,000
   Question No: 4    ( Marks: 1 )    - Please choose one
 What would be the effect on the cost of a department in case of normal Loss?

       ► Decreased                                                    ► Increased

       ► No effect                                                     ► Increase to the %ae of loss

   Question No: 5    ( Marks: 1 )    - Please choose one
 When 10,000 endin units of work-in-process are 30% completed as to conversion, it means:

       ► 30% of the units are completed                                       ► 70% of the units are completed

       ► Each unit has been completed to 70% of its final stae       ► Each of the units is 30% completed

   Question No: 6    ( Marks: 1 )    - Please choose one
 In order to compute equivalent units of production, which of the followin must be reasonably estimated?

       ► Units                                                         ► The percentae of completion
       ► Direct material cost                                  ► Units started and completed

   Question No: 7    ( Marks: 1 )    - Please choose one
 In a job order cost system, the use of direct materials would be recorded as a debit to:

       ► Finished oods inventory                                   ► Manufacturin Overhead

       ► Raw Materials inventory (not confirm)        ► Work in Process inventory
   

Question No: 8    ( Marks: 1 )    - Please choose one
 If manaement predicts total direct labor costs of Rs. 100,000 and total overhead costs of Rs. 200,000, what is its predetermined overhead rate based on direct labor costs?

       ► 50%                                                                 ► 100%

       ► 200%                                                              ► Cannot be determined

   Question No: 9    ( Marks: 1 )    - Please choose one
 P Ltd applied overheads on the basis of direct labor hours. The overhead applied rate for the period has been based on budeted overhead of Rs.150, 000 and 50,000 direct labor hours. Durin the period overhead of Rs. 180,000 were incurred and 60,000 direct labor hours were used.

Which of the followin statement is correct?

       ► Overhead was Rs.30,000 over applied              ► Overhead was Rs.30,000 under applied
       ► No under or over applied occurred                    ► None of the iven
   Question No: 10    ( Marks: 1 )    - Please choose one 
Raymond Corporation estimates factory overhead of Rs. 345,000 for next fiscal year. It is estimated that 60,000 units will be produced at a material cost of Rs. 575,000. Conversion will require 34,500 direct labor hours at a cost of Rs. 10 per hour, with 25,875 machine hours. 

FOH rate on the bases of Prime cost would be?

       ► Rs. 37.5 per unit                                        ► Rs. 56.6 per unit

       ► Rs. 60 per unit                                            ► Rs.1 per unit

Prime cost     $345000/$920000x100=37.50%
base of different factors
1. Unit of Production:   $ 345000/60,000 = $ 5.75 per unit

2. Material cost:   $345000/$575000 x 100 = 60%

3. Labor cost    $345000/$345000x100 = 100%

4. Labor Hours   $345000/34500 = $10 per Labor Hour

5. Machine Hours   $345000/$25875 = $13.33 per Machine Hour

6. Prime cost     $345000/$920000x100=37.50%
   Question No: 11    ( Marks: 1 )    - Please choose one
 Nelson Company has followin FOH detail.

                                                        Budeted (Rs.)              Actual (Rs.)
Production Fixed overheads           36,000                            39,000

Production Variable overheads         9,000                            12,000

Direct labor hours                             18,000                            20,000

 

What would be the amount of under/over applied FOH

 

       ► Under applied by Rs.1,000                                            ► Over applied by Rs.1,000
       ► Under applied by Rs.11,000                                          ► Over applied by Rs.38,000

   

Question No: 12    ( Marks: 1 )    - Please choose one
 Which of the followin isTRUE reardin the use of blanket rate?

       ► The use of a sinle blanket rate makes the apportionment of overhead costs unnecessary
       ► The use of a sinle blanket rate makes the apportionment of overhead costs necessary

       ► The use of a sinle blanket rate makes the apportionment of overhead costs uniform

       ► None of the iven options

   Question No: 13    ( Marks: 1 )    - Please choose one
 A Blanket Rate is:

       ► A sinle rates which used throuhout the oranisation departments
       ► A double rates which used throuhout the oranisation departments

       ► A sinle rates which used in different departments of the oranisation.

       ► None of the iven

   Question No: 14    ( Marks: 1 )    - Please choose one
 It is possible for an item of overhead expenditure to be shared amonst many departments. It is also possible that this same item may relate to just one specific department.

If the item was not chared specifically to a sinle department this would be an example of:

       ► Apportionment                                                       ► Allocation

       ► Re-apportionment                                                    ► Absorption

 Question No: 15    ( Marks: 1 )    - Please choose one
 FOH absorption rate is calculated by the way of:

       ► Estimated FOH Cost/Direct labor hours                     ► Estimated FOH Cost/Direct labor cost

       ► Estimated FOH Cost/Machine hours                          ► All of the iven options
   Question No: 16    ( Marks: 1 )    - Please choose one
 Which of the followin is / are time based incentive wae plan?

       ► Hasley Premium Plan                                                   ► Hasley Weir Premium Plan

       ► Rowan Premium Plan                                                   ► All of the iven options
   
Question No: 17    ( Marks: 1 )    - Please choose one
 If, Basic Salary                    Rs.10,000

Per Piece commission   Rs. 5

Unit sold                                   700 pieces

What will be the total Salary?

       ► Rs. 3,500                                                         ► Rs. 13,500
       ► Rs. 10,000                                                       ► Rs. 6,500

  
Question No: 18    ( Marks: 1 )    - Please choose one
 Payroll includes:

       ► Salaries & Waes of direct labor             ► Salaries & Waes of Indirect labor

       ► Salaries & Waes of Administrative       ► Salaries & Waes of direct labor, Indirect labor, and Administrative
   Question No: 19    ( Marks: 1 )    - Please choose one
 Which of the followin document evidences the transaction of purchase of material?

       ► Material requisition                               ► Store requisition

       ► Purchase order                                       ► Purchase invoice
  
 Question No: 20    ( Marks: 1 )    - Please choose one
 Which of the followin isNOT an assumption of the basic economic-order quantity model?

       ► Annual demand is known                     ► Orderin cost is known

       ► Carryin cost is known                           ► Quantity discounts are available
   Question No: 21    ( Marks: 1 )    - Please choose one
 A store sells five cases of soda each day. Orderin costs are Rs. 8 per order, and soda costs Rs. 3 per case. Orders arrive four days from the time they are placed. Daily holdin costs are equal to 5% of the cost of the soda. What is the EOQ for soda?

       ► 4 cases                                            ► 8 cases

       ► 10 cases                                          ► 23 cases
   Question No: 22    ( Marks: 1 )    - Please choose one
 All of the followin are deducted from ross Profit to calculate Operatin income EXCEPT:

       ► Sellin expenses

       ► Advertisin expenses
       ► Administrative expenses

       ► Financial expenses

   Question No: 23    ( Marks: 1 )    - Please choose one
 Which of the followin isCORRECT to calculate cost of oods manufactured? 

       ► Direct labor costs plus total manufacturin costs

       ► The beinnin work in process inventory plus total manufacturin costs and subtract the endin work in process inventory
       ► Beinnin raw materials inventory plus direct labor plus factory overhead

       ► Conversion costs and work in process inventory adjustments results in cost of oods manufactured

   
Question No: 24    ( Marks: 1 )    - Please choose one
 Which of the followin is a period cost? 
       ► Direct materials

       ► Indirect materials

       ► Factory utilities

       ► Administrative expenses
  
 Question No: 25    ( Marks: 1 )    - Please choose one
 The salary of factory clerk is treated as:

       ► Direct labor cost

       ► Indirect labor cost
       ► Conversion cost

       ► Prime cost

   Question No: 26    ( Marks: 1 )    - Please choose one
 The components of the conversion cost are: 

       ► Direct Material + Direct Labor + Other Direct Cost

       ► Direct Labor  + FOH
       ► Prime Cost + FOH+ Other Direct Cost

       ► Prime Cost + FOH

   Question No: 27    ( Marks: 1 )    - Please choose one
 The cost of Telephone bill of the factory is treated as:

       ► Fixed cost

       ► Variable cost

       ► Step cost

       ► Semi variable cost
   Question No: 28    ( Marks: 1 )    - Please choose one
 Which of the followin is a cost that chanes in proportion to chanes in volume?

       ► Fixed cost

       ► Sunk cost

       ► Opportunity cost

       ► None of the iven options                                       

   

Question No: 29    ( Marks: 1 )    - Please choose one
 Cost accountin concepts include all of the followin EXCEPT:

       ► Plannin

       ► Controllin

       ► Sharin
       ► Costin

 
  Question No: 30    ( Marks: 1 )    - Please choose one
 If a predetermined FOH rate is not applied and the volume of production is reduced from the planned capacity level, the cost per unit expected to:

       ► Remain unchaned for fixed cost and increased for variable cost

       ► Increase for fixed cost and remain unchaned for variable cost
       ► Increase for fixed cost and decreased for variable cost

       ► Decrease for both fixed and variable costs

  
 Question No: 31    ( Marks: 1 )    - Please choose one
 All of the followin are characteristics of roup Bonus Scheme EXCEPT:

       ► A standard time is set for the completion of a job

       ► If the time taken is reater than the time allowed, the workers in the roup receive time waes

       ► If the time taken is less than the time allowed, the roup receives a bonus on time saved

       ► If the time taken is reater than the time allowed, the workers in the roup receive time deductions for extra hours
  
 Question No: 32    ( Marks: 1 )    - Please choose one
 Which of the followin isTRUE when piece rate system is used for wae determination?

       ► Under this method of remuneration a worker is paid on the basis of time taken by him to perform the work

       ► Under this method of remuneration a worker is paid on the basis of production
       ► The rate is expressed in terms of certain sum of money for total production

       ► The rate is not expressed in terms of certain sum of money for total production

  
 Question No: 33    ( Marks: 1 )    - Please choose one
 Under Halsey premium plan, if the employee completes his job in less than the standard time fixed for the job, he is iven:

       ► Only waes for the actual hours taken

       ► Waes for the actual hours taken plus bonus equal to one half of the wae of the time saved
       ► Waes for the actual hours taken plus bonus equal to one third of the wae of the time saved

       ► Only the bonus equal to one half of the time saved

   

Question No: 34    ( Marks: 1 )    - Please choose one
 Which of the followin isNOT a reason for carryin inventory?

       ► To maintain independence of operations

       ► To take advantae of economic purchase-order size

       ► To make the system less productive
       ► To meet variation in product demand

   

Question No: 35    ( Marks: 1 )    - Please choose one
 Restockin of stores, in order to ensure efficient functionin of the stores department and steady flow of materials to the production departments, is duty of:

       ► Manaers

       ► Storekeeper
       ► Production In chare

       ► Sales supervisor

   

Question No: 36    ( Marks: 1 )    - Please choose one
 You made Rs. 10,000 loan to your cousin's company. At the end of one year, the company returned to you Rs. 10,850. The Rs. 850 is called which one of the followin?

       ► Increases in loan

       ► Increases in dividends

       ► An 8.5% return on investment
       ► All of the iven options

   

Question No: 37    ( Marks: 1 )    - Please choose one
 The net sales of the business totals Rs. 200,000 and the Cost of oods Sold for the same period totals Rs.146,000. What is the ross marin ratio?

       ► 0.22

       ► 0.25

       ► 0.27
       ► 0.33

   

Question No: 38    ( Marks: 1 )    - Please choose one
 If, ross profit = Rs. 40,000

P Marin = 25% of sales

What will be the value of cost of oods sold?

       ► Rs. 160,000

       ► Rs. 120,000
       ► Rs. 40,000

       ► Can not be determined

   

Question No: 39    ( Marks: 1 )    - Please choose one
 Cost accountants are concerned about the ratios relatin to the Profits and Manufacturin costs. These ratios miht include:

       ► ross Mark up rate

       ► Inventory turnover ratio

       ► Cost of oods sold to sales ratio

       ► All of the iven options
   

Question No: 40    ( Marks: 1 )    - Please choose one
 The total cost to produce one unit is Rs. 600. Direct materials are 20% of the total cost and direct labor is 1/3 of the combined total of direct labor and direct materials. What was the cost for direct materials, direct labor, and factory overhead? 
       ► Rs. 420, Rs. 60 and Rs. 120, respectively

       ► Rs. 60, Rs. 120 and Rs. 420, respectively

       ► Rs. 120, Rs. 60 and Rs. 420, respectively
       ► Rs 60, Rs. 420 and Rs. 120, respectively

   

Question No: 41    ( Marks: 10 )
 CK Products Limited purchased materials of Rs. 550,000 and incurred direct labor of Rs. 420,000 durin the year ended June 30, 2006. Factory overheads for the year were Rs.380,000. The inventory balances are as follows:

 

                                                                                    July 1, 2005          June 30, 2006 
Rupees                 Rupees
Finished oods                                                     90,000                 105,000

Work in process                                                           121,000                 110,000

Materials                                                                      100,000                 105,000

 

Required:
1)                  Cost Of oods Manufactured Statement.

2)                  Cost Of oods Sold Statement.

 

ANSWER:
                  CK Products Limited
              Cost of oods sold statement
          For the year ended June 30, 2006
                                                                              Rupees
Openin inventory                                                100,000

Add: purchases                                                      550,000

Less: Closin inventory                                        105,000
Direct material used                                               545000
Add: Direct labour                                                 420,000
Prime Cost                                                              965,000
Add: factory overhead cost                                    380,000
Total factory cost                                                 1,345,000
Add: openin work in process                                121,000
Cost of oods to be manufactured                        1,466,000
Less: closin work in process                                  110,000
Cost of oods manufactured                                 1,356,000
Add: Openin finished oods                                    90,000
Cost of oods to be sold                                        1,446,000
Less: closin finished oods                                    105,000
Cost of oods sold                                                 1,341,000
